
1 V : the potential difference to push 1A of current across 1Ω of resistance.

Electric Current (I): A stream of charged particles, measured by the charge (Q)
                                  passing a point in a circuit at a given time, by an Ammeter.

Resistance: a measure of the opposition to current flow in an electric circuit in Ω Ohms

                 Ie: a light bulb

Ohms Law: Current through a conductor between two points is directly proportional to the voltage
                     across the two points. 
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Electron Volt (eV): Energy to move an electron across 1 Volt.

∈ ∶ 𝐸𝑙𝑒𝑐𝑡𝑟𝑜𝑚𝑜𝑡𝑖𝑣𝑒 𝐹𝑜𝑟𝑐𝑒 (𝑒𝑚𝑓) ; 𝑉

1 𝑎𝑚𝑝𝑒𝑟𝑒 (𝑎𝑚𝑝) 𝑖𝑠 𝑡ℎ𝑒 𝑐𝑢𝑟𝑟𝑒𝑛𝑡 𝑜𝑓 1𝐶 𝑝𝑒𝑟 𝑠𝑒𝑐𝑜𝑛𝑑.

1 Ω (𝑂ℎ𝑚) 𝑖𝑠 𝑡ℎ𝑒 𝑟𝑒𝑠𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑖𝑛 𝑎 𝑐𝑖𝑟𝑐𝑢𝑖𝑡 𝑡𝑜 1 𝑎𝑚𝑝 𝑎𝑛𝑑 1 ∆𝑉.
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𝑉௧ ∶ sum of the voltage drop in non-internal resistors (𝑁𝑜𝑡 𝐼𝑟)

Method: Choose Arbitrary 𝑅 = #Ωᇱ𝑠

𝑚 = 𝑅
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